Module Name : Chemistry
Exam Date : 14-Feb-2022 Batch : 14:00-17:00

Sr. No.

Question Body and Alternatives

Bond angle in water molecule is 104.5° instead of 109° 28' because of :
BT eLpevd: w6t LeneooriL] Gameoorln 109° 28' —&@& LISH6VTE: 104.5° 9485 2_6T6enSl, 6 6 6or60i16V

A : Lone pair, bond pair repulsion
Sefl55 G, LememrLiL| G2l erHIFLL
B : Bond pair, lone pair repulsion
LNemeuor LIL| GIITLY., S601155 Gl TSy LIL
C : Lone pair, lone pair repulsion — (Correct.Alternative)
Ff55 R, HaflS5S CRmq eTHILY
D : Bond pair, Bond pair repulsion
LNemevor 1] G3miy., LlemevorLiL] G2miq eT&H TLIL|
Which one of the following ion is smallest in size ?
GLo g eooT_eummieT &EF Fnlw wenf] eT& ?

A N3




-

D : Na* — (Correct Alternative)
Na*

Bond order of H} ion s :

H} Slwieofiileir LNeneuorliL] euifleng &I -

A+l
+1

"+

| =

— (Correct Alternative)

+
| =

C: Zero
Zero
D:2
2
Compare the boiling points of CHy, HyO, NH3 and HF.
CHy, H,0, NH3 o miLh HF —6T Q& T&Blemeven i UL (H &l :

A: CH4 <NH;3 < HF <H,0 — (Correct Alternative)
CH4 <NHj3; < HF <H,0

B : HF > H,0 > CH4 >NHj
HF > H,0 > CH4 > NH;

C: H,O<HF > CH4 > NHj




H,O <HF > CHy4 > NH;
D : CH4 <HF <NH3 <H;0
CH4 <HF <NH3 <H,O

Arrange the following ions in the increasing order of ionic radius. 0, F-, Mg?", Ca?*

LN edreu(mLd & wienflaserfletr owenfl SLrHens QUTBS S ol auiflenaFliu( &S5
0%, F-, Mg?*, Ca?*

A:Ca?t<Mg?t <0 <F
Ca2t <Mg?" <0% <F
B: Mg?" < Ca?" < F < 0% — (Correct Alternative)
Mgt < Ca?t <F < 0*
C: Mg?" <F <Ca?t<0%
Mg2t <F <(Ca?"<0*
D: Ca?t < 0% <F <Mg?*
Ca?t <0% <F <Mg?*

If one electron removed from the HOMO of oxygen molecule, O% is obtained, then:

QSHErOIN6r  cpeLdbFamieit HOMO 60 @WBhH& €(H TS JTen6oTr
B&HGLCUTE OF 2 (HeUTHME| SAGHETED

A : The bond order decreases and bond length increases

L emevor 1L 6T6v0T G6enmM P M3 Llemevor L] HeTd HE & flEEms
B : Both bond order and bond length increases

LYemevorLIL] eTevor LOMMILD LNemevorLiL] Hemd @ revor(hld NS &flEHR ms
C : Both bond order and bond length decreases




LY emevor 1L 6Tevor LOMMILD Llemevor L] HerLD @ Tevor(hIlD &Gemnm H M
D : The bond order increases and bond length decreases — (Correct Alternative)

LN emevor 1L 6Tevor B SFER M LemevorLiL] Herld GGenmEBmS
Ionisation Isomerism among the following is :
L3l 60T6) (15 61 60T6U (D M 6T 6781 2 Wieof] mmHmlwib ?

At [Co(NH3)sNO,]*% & [Co(NH3)sONO] ™2
[Co(NH3)sNO,]*2 o milh [Co(NH3)sONO] 2

B : [Co(NH;3)sBr]SO, & [Co(NH3)sSO4]Br — (Correct Alternative)
[Co(NH3)sBr]SO4 LOM MILD [Co(NH3)sSO,]Br

C : [Co(NH3)6][Cr(CN)g] & [Cr(NH3)g][Co(CN)¢]

[Co(NH3)6][Cr(CN)g] LOMMILD [Cr(NH3)6][Co(CN)6]
D : [Pt(NH3),][Pt Clg] & [Pt(NH5),Cl, ][Rt €l4]

[PL(NH;)4][Pt Clg] LDD@ID{RINH),CL5 [P Cly]

The ligand used for the estimation of Nickel in gravimetric analysis is.
eTem WMl LiGLiLmiiellev Bl 860 2 GeumeH s el LiwleTL (I Feofl :

A : DMG — (Correct Alternative)
DMG

B: EDTA
EDTA

C : Oxine
24, 860)610 60T

D : Ammine
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11

10

11

9|L560T

Square planar complexes of the type [Ma,b,]™, where a and b are ?

FHETFSIT |60600T6Y&F GFFLOLD [Mayb,]™, &6V a LOMMILD b 6T6OTLIS

A : Bidentate ligands
i1l ey evoT W FF 60T
B : Tridentate ligands

eLn 6) 60 600T UL FF 601
C : Flexidentate ligands
LNemgserdl rreufl
D : Monodentate ligands — (Correct Alternative)

ga1fleoor Wi Freof]

Cobalt exists in two oxidati(); s_tatf_:s_, ég(il);d CD(H_I),_Of the;E C;(I_H) is unstable in;
GHMUIMeLL @) TevoT(h 28 6en0l2B6urMM HlemeVaserle) 2 _6Termgl, Co(Il) LDMMILD Co(III), @ &6v Co(IlN)
6THS 26TL_555)6V [BletreuilliDmE?

A : Alcoholic medium
QL6VEHQMITEY DTG LD

B : aqueous medium — (Correct Alternative)
218016 LI WILD

C : Ammoniacal solution
S|LDBLOMEf I WITEH6L &6 JaFev

D : Neutral medium

BHH\BHletIeV 26510

Cis - trans 1somerism occurs in :
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R UES — L0MILEGS LTHHWSS ener QuOM®HLILS :

A : Octahedral and square planar — (Correct Alternative)
6T600T(LL G LDMMILD FHIT FHEITLD

B : Trigonal planar and Octahedral
(LN&G8TEuoT &6TLD DM MILD 6T600T (LN G

C : Square planar and Linear

&SI Her Immid CHIGa&M(h
D : Trigonal bipyramidal and Octahedral

W& Camevor @ HLITWA®H WMHoILD eTevoT(LN
Among the following the compl(;{.which_c_an exhibit optical isomerism is ?
LN etTeu(HLD lemetoteyd G&F JLomIGer ey sperflulluwisy wmmmlwib sTlBeug! :
A : Cis - [Pt Cl, (NH3),]

Cis - [Pt Cl, (NH3),]
B 1 [PtCI3(C,Hy)1®

[PtCl3(CoH,)]®
C: Trans - [Co(en),Cl,]*

Trans - [Co(en),Cl,]*
D : [Co(EDTA)]® — (Correct Alternative)

[Co(EDTA)]®

The order of relative stabilities of various cations are :

GmIyleT 9 wenflgerfler eLiL| Blemevd & eTemLo auiflens :




At + + +
CH3 > CH3CH2> (CHg}gCH > (CH3]3C

+ + + +
CH3 > CH3CH2> (CHa]zCH ] (CH3]3C

B: + + + +
CH3CHy > CH3 > (CH3)3C > ICH:’,QCH

+ + " +
CH3CH2 > CH3 > (CH3)3C > [CHQJQCH

C: + + + +
(CHa)QCH > CH3CH2 > CH3 > (CH3)3C
+ + + +

(CH),CH > CH5CHy > CHas> c

D: +

(CHalsc > [CHg),CH " H ’

+ +

14

14

& O
CHz-—-— = (CH312 —a X+ (CH3)2— NOH
o
Identify ‘X'

@CHZ— — (CHa)p “6%5 X+ (CHa),~NOH

X-6miéb Sevor_his

b o
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D:

Sn1 reaction is greatly accel&a:ced_ﬁy :

O-en
Oe

— (Correct/Alternative)
Omer

Sn1 eflemeotem W &5 UGS SID, 5T F60or]

A

Increase in polarity of the solvent — (Correct Alternative)

S0 TLILIMeul160T SH & (LNEM6ITEY S SH60T60L0

: Neutral Solvent

BHIBI6M6V &6t T LILITEOTS: 6T

: Non - polar solvent

(LDEMEUTEY S HEOTEMLD MM G600 T LI LITEOTS 6T

: Decrease in polarity of the solvent

S6M T LILITEn 60T &6mMbHS (LN 6EITEYS & 60T60IL0

The reaction rate of any reaction depends on :
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& allemeorUI 6T element Geudsgema BlevorwilLILIS :

A : Thermal energy of transition state
QeULIL L,MMe6Y
B : Enthalpy of a reaction
6T60TS S meu Ll
C : Entropy of a reaction
RWRISDHOS S6TenLo
D : Activation energy of the transition state — (Correct Alternative)
&ler ey mih 4MHMEL

Molecularity and Rate of Sy 1 reactions are :

Sn1 ellement euLBludlesr eLpeV & Fa M6y LM MID CeussLD :

A : Unimolecular, First order — (Correct Alternative)
RV CLHEVE: T DI GILLIED, (LD G 6V, LILG.
B : Bimolecular, Second order
FF T30 ELO6V & n MIeNlUI6L, @) [T600TLITLD LILQ.
C : Unimolecular, Second order
&R0 CLN6VE Fa MINILLIGV, @) T600TLITLD LILg.
D : Bimolecular, First order
F I PN 6V & S MIGNILLIGY, (LNG6V LILG.

One of the modern method of studying "free radical” is :

H6of] 2_miLIeoL! (Free Radical) UMW Hefeor (emmuiley Qulile] Q&FUIW 2 56 6ugl :

A : IR spectra
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IR — BIMLOMem 6V

B : UV spectra
UV — BImLomenev

C : CIDNP — (Correct Alternative)
CIDNP

D : Microwave spectra

L& CT GG B MLOITENEY

The velocity of electron in a hydrogen atom in its ground state is 2.2 x 109 ms™!. The de broglie wavelength of this
electron.

GerTFeumm Mlemevuilev H— o samieNleir eTeusL_[Imeoflet HlenaGaussib 2.2x106 ms™!. @\H S
eTeuS L Imenfledt 1@ LIgm&ed @ emeviberLD.

A : 0.33 nm — (Correct Alternative)
0.33 nm
B:23.30 nm
23.30 nm
C: 45.60 nm
45.60 nm
D:3.33 nm
3.33 nm

Which of the following Bohr's theory explanation is correct ?
WNesteu(mld UMy CamLumB&erfley &iflwmers 61g! ?

A : The spectrum of Hydrogen atom only
QDL TE6T SI€W BIDHLOMen6 L EID

B : The spectrum of Hydrogen atom or ions containing one electron only — (Correct Alternative)
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62(H 6TeLEL_[JITEM 60T QILIM MIETET 6MQML_[JE260T 6001 ]6V6VE MG @55 I3 Wievflsserfleor
Bl MLOTEm6V

C : The spectrum of Hydrogen molecule
AU L_[TEI6TT CLN6V & T M 60T [BIMLOTEm6V
D : The solar spectrum

G flw Blminmemesy

At what wavelength does the maximum in the energy - density distribution function for a black body occur if T = 3000
K?

T=3000 K —-94,5 @ (H&GLDCLMTG 6THS emevheTsHE 6L (H SH(IHLD QLIMTIHEHESTET 3L, MHMEV —
IILFTHS) Ligaley &myeooll 2 &F&F gjaTale) @ H& @D ?

A:33x107 m
3.3x10°7 IS
B:27x107 m
2.7x107 1S LI
C: 9.67x10"7 m — (Correct Altérnative)
9.67x10°7 LSL_LI}
D:9.67x1010m
9.67x10710 S
The electrons are emitted from a metal surface illuminated by the ultraviolet radiation is :

L|meats s & IE5em6TsH Q&meoor(h speflenwill UMLF&HIDEUMS 2 Geums GumuirLiLiey
QGBS TLHLTMeTHemeT 2 LAl(WLD 6l6m60TdH @ :

A : Photoelectric effect — (Correct Alternative)
sperfl Ll 6oT eXlemerTay
B : Photosynthesis
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e FCFIEHm &
C : Phosphorescence
B60rQ mmerfl &6
D : Photolysis
g6l Geud el evreor

is called de Broglie relationship.

— gswerum® l© VNgmsésGeT QSTLFemL GMSEH M.

A : E=mc?
E=mc2

MY — (Correct Alternative)

Operators have the property to yield real eigen values are called :
@)WV 85601 LOF)LIL|SHEM6T & (HLD Q& Wed & ener HLp&:8600TL6U MMl &ML L6VTLD :

A : Eigen function
08607 FMILY

B : Hamiltonian operator
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ammileuGL meoflwier Q& wed

C : Hermitian operator — (Correct Alternative)
Qamy WG WeT Q& wed

D : Orthogonal

T CH MBS TEOT 6L

Gibbs - Duhem equation is :
&llen — (hamld Fwerum) :
A n
VdP — §dT = E nfdl.l.i

£ — (Correct Alternative)

n
VdP — SdT = E nfdl.l.i

i=1

ény
o
oy
C:V=£(T,P,n)
V =f(T, P, n)

v
on;

D:
=N
P, T

[av'
o i
P.T

6"[‘!{

A convenient form of the Sackur - Tetrode equation is :
FrHET — QL CrHh el QLITEIeumeT FeTUm( :




A S=Ny

S =N
B:S=A_N,
S=A_N,
C: 352 R(—I.ISI + % InA; — InPF,D+%InK) .
— (Correct Alternative)
5= R(—usz + % InA, — InPP°+%In%)

b S, = NkT[In;i)T

v

S, = NkT(In;i)T “I ll \ |‘|.

W

27

27

The equation for standard Gibbs free ener: [ ﬂ
S1p 2 eTemauh mieT SL16 Emsc'snb : @@
MCleurm wrewrausfienr e uSlgwr
A AG = Vdp — SdT — (Corféct Alternative) BTG
AG = Vdp — SdT
B: AG,=SdT

AG, = SdT

N Q
AG° =S VAG;

i=1

aAG =§: VAG

N
AG = 3 VAG®

i=1
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N
AG = 3 VAG®

Variation with temperature of the molar heat capacity at constant volume of a monoatomic solid shows :

FL emhenm oismieileor LDmled &HeoT 2|66 24560 QeULILIBlenev DMMHME STV ML
GLOIMEVITT @6ULILI 860T60)LOUI TEOTS.

A : Changes the phases
560T6emL0 HlemeVLDMMILD
B : Linear
FUns 2 eTeng)
C : Cannot determine
S{lw Guievg!
D : No phase changes over the temperature upto stock — (Correct Alterfative)

500K 6U6MT & 60T HEoTemLD Hlamey LDITMITS

At equilibrium and at constant temperature and pressufe.:
Geud Fplenevuileh QeuLILID, S|(WLHSOLD MMTLO6, LTMleSWTE: @ e E&GWLEUTS

A1 dG #0, pi(e) = pi(B)
dG # 0, pi(a) = p;(B)

B : dG =0, pj(«) = py(B) — (Correct Alternative)
dG = 0, w(a) = w(B)

C:dG =0, pj(a) # p;(P)
dG =0, pj(a) # p(B)

D : dG # 0, pi(o) # pi(P)
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dG # 0, pi(a) # pi(B)

If a system A is in equilibrium with B and B is in thermal equilibrium with C, then A and C are in equilibrium with
each other. This is a statement of :

A 6T60TM 3|6MLOLIL| B 6T60TM 3J6MIDLIL|L 65T FLoBlemevuilev @) (H&GLDELIMEI, B 6T6d0TM j6mLlnllL], C
6T60TM 2I6MIDLIL|L 60T QaullLl FlnBlemeuullev @ @HHS TV A LDMHMILD C HUI @) (1H 26MDLILS&HEHBLD
SMI&EHE G 6T Qe FLoplenevuiley @ (HSHGLD. B)HS Fn MM

A : First law of Thermodynamics
QauliL @uissallueder s e el
B : Second law of Thermodynamics
@eulll @uEsadlwed e @revorLmld el
C : Fourth law of Thermodynamics
QeuLIl @)W & sailueseoT [Teorss M &)
D : Zeroth law of Thermodynamics — (Correct Alternative)

Qeulll @uissedlwedeor L,5sslul 695

Calculate AE for the below reacTtion.
"B+ H-'2C—35He
Slpsrgmid eMenemiiled AE &eion_Ms.

M, 1, 12 4
5B+ H—> s C—>3,He

A1 2.01x10'8 kcal/mole — (Correct Alternative)
—2.01x10!® keal/mole

B:20.1x10'8 kcal/mole
~20.1x10'8 keal/mole
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C:-201.0x1018 kcal/mole
—201.0x10'8 keal/mole
D : _2010x1018 kcal/mole
—2010x1018 kcal/mole

Nuclides of mass numbers show a special feature.

2|60 [Bl6n M 6T600TS6T 2_ 60U 2_L_&(H 6Uen&H 86T FMLIL] @ UI6VL]|86T
Q&5 T600T L_6m 6 WIM@G LD,

A:11,17,27
11, 17, 27
B : 09, 13, 17 — (Correct Alternative)
09, 13, 17
C: 19, 23,21
19, 23, 21
D: 09,03, 19
09, 03, 19
In India, the fissile material occurs in plenty.
G Lh & 600T LeuHmieT @hEWmelley 258 26meleh HemL &G0 2 soIl1LT6mey m & snlq.ul QLITIHeT
—— 9,ELD.
A : Thorium — (Correct Alternative)
Gsmiflwib
B : Uranium
wGrevflwiLd
C : Plutontum

Lj@BL_GLmeflwLd
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D : Astatine

3| 6NVL_TED)L_60T

a - particles are ejected from atomic nuclei with a velocity in the order of of light velocity.
9601855 HeNleN (B S o - & FH6TH6T GauefGLMILD HendFCeudsLnmergl 6edlullesr
FenFCUFHHFH L ——

A : 5% — (Correct Alternative)
5%
B: 6%
6%
C: 7%
7%
D: 8%
8%
The empirical relationship between the range and energy of.a «particles 1s

o - SlE&aTsefler efFa DHmIDH BEmmesEnHs G @) 6L Gulll meor aﬁl@gn&&ng QML ——
QG0

A B %
Range =0.318E'2 _ ((Correct Alternative)
%
6% = 0.318E

. 3
B: Range = 0.348 E/2
3
aRF&: = 0.368E/2

C: 3
Range = 0.379 E/2
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. 3
& & = 0.379 E/2
. 3
D: Range = 0.3’9’4E/é
: 3
6% 6 = 0.394E2

is an example for a control rod in nuclear reactor to control nuclear fission reaction.

— eTeTUIZ et 2_emevuiley gismmiliLiemey ellemetTenlis SLHLILBSSID GEFEFEG (H
®_&ITJ600TL0MEG LD
A : Graphite rod

KTl G&FF)
B : Boron rod

GUMTITET &G&F
C : Germanium rod — (Correct Alternative)

QR FWmeflw &G&FF
D : Aluminium rod

SlevLdleofl WD &5
The element used in nuclear reactor is :

3| WI& ([ 2_6m6vUIl6L LW eTU(B &SI Seoflolh

A 1235y
235y

B: 236y
236y

C: 12¢
12¢
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D : 13¢ — (Correct Alternative)
13¢
When aqueous ammonia is added to a solution of Cobalt dichloride, for which composition turns pink ?
GHmUMeLL 60L& Cemmen T(h Hemp&Fedlev HIS S 3 EWmelWm CFIHGIAUMLS 6THSH
Fal_(HL1 QU6 LNk BlmsSH 6L nmmin?
A : CoCly . 6NH;
CoCl; . 6NH;
B : CoCl5 . 5NH;3 . HO — (Correct Alternative)
CoCly . 5NH; . H,0
C: CoCly . 5NH;
CoCl3 . 5SNH;3
D : CoCl; . 4NHj3 . 2H,0
CoCl; . 4NH3 . 2H,0

How many bands are obtained for IrBrE_ complex in charge fransfer spectra ¢

Irer;~ GEJGSH6r LhlsiTgend UMM HMOTEDEOUTNEL 6165 60
1606V HHMENMBET HlenL & 6UTM6UT 2

A : 2 —(Correct Alternative)

o}

@
— 0 W N
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6 - co-ordinated complexes possess distorted octahedral structure due to .
6 - 3|eM6UTEY QEFWIWLILIL L GFFLOMIGET H(HSHSLILIL_L 6Tetor(LNS) 61UIq6U5 eSS QL&
ST evor LD meor elemeTey

A : Jahn-Teller effect — (Correct Alternative)
D TEOT — GIL_6V6VT 6)l6M6IT6)

B : Crystal Field effect
L &L ellemerTey

C : Nephelauxetic effect
QBLIETTE 6.8 alemerTe)

D : Paramagnetic effect

UM M&&THS ellenemey

The molar magnetic susceptibility value OFT\?H?, (g)is
NH; (g) 60T GLOmeury &MTh% FQEFLIG LN6011q LG 1L eTedT60T ?

A1 —18x10° cm3 mol™! — (Correct Alternative)
— 18 x 10% cm3 mol™!

B:—81x 10% cm3 mol™!
— 81 x 109 cm? mol™!

C: +18 x 10° cm3 mol™!
+18 x 109 cm3 mol™!

D + 81 x 10% cm3 mol™!

+ 81 x 10% ¢cm? mol™!




In IR C-O stretching frequency of metal carbonyl is in the order of :

IR BImLOmeneuuiley 2 Geumd: &I GLImemeorev & 6rflel 2 6o C-0 BL L 6L 3H TQeusvor HGLH
Q&MH S&&LILL(B6TeT 6ThS euflengFulley 2 _eTermg ?

A [Ti(Co)g] >~>[V(Co)] ~> [Cr(Co) ¢] ~>[Mn(Co) 6]
[Ti(Co)Sub>6]>~> [V(C0)] ~> [Cr(Co) 4] ~> [Mn(Co) 6]

B : [Mn(Co) 4] * > [Cr(Co) 4] > [V(Co) 4]~ > [Ti(Co)g] 2~ — (Correct Alternative)
[Mn(Co)g]* > [Cr(Co) ¢] > [V(Co) 6]~ > [Ti(Co)g] 2~

C [Ti(Co)] #~> [Mn(Co) 6] * > [V(C0)] ~ > [Cr(Co)g]
[Ti(Co)g]*~> [Mn(Co) 6] > [V(Co)g] T > [Cr(Co)g]

D : [Ti(Co)g] #~> [V(Co) 6] ~ > [C1(Co)5] > [Mn(Co) ¢] *

[Ti(Co)]*~ > [V(Co) 6] = > [Cr(Co)g] = [Mn(Ca) £

At Curie temperature, the ferromagnetic material become :

Su,ifl QeuliLmpleneuuileh, SCILIFETT &MH&LIGLIMTHET LDTHIeUSI,

A : Antiferromagnetic

THT SQUICHT SMTHS QUITIHETITSE
B : Paramagnetic — (Correct Alternative)

UMD MTSTHS &He0Te0)L0 2 66T GILIMIHETTS
C : Diamagnetic

LWMT&ETHS S6OT60ILD 2_6TeT GILIM(HET M
D : Does not change with respect to temperature

QUG H 60TITEL LDMMHMLD 3460 LTSI
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An electron source in the aromatic electrophilic substitution reaction is :
SICImGLOL19.8 6TeL&L_[TmedT &eul LIS 65 (H eflemeorudlev 6Tev&L [T T6OT eLNEVLD 6T60TLIS :

A : an electrophile
6T6V S L_ITITET S6U[T S5 TT600l]
B : a catalyst
&l 60y 60T W, & 5
C : an intermediate
ellemeor @ emL_Blemevl] QLIT(H6T
D : an aromatic system — (Correct Alternative)

SICrmGLOL 198 caqsmmuu

Benzene diazonium chloride reacts with phenol to form :
QUIGT & 60T 6L WIGTFmenflulLD GBeTmenT(h) LTeormeviL_etT affemreoriflb& 2 Heums:Geus ?

A : p - chlorophenol
— &Berm Gy mLsor el
B : chlorobenzene
GGGy TG LT 6T
C : p - hydroxyazo benzene — (Correct Alternative)
p— ML JTTHF CFTC LI6TEF 6ot
D : DDT
DDT

A base which favours the formation of an aryne intermediate from a simple haloarene is :
ererflil @ Geum 2| Feufled(BH S | 6MmT6T @) 6MLBleM6eVLI QLITIHENETLI QLM 2 6D &TJLD :

A
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NH;
NH;
B: ©
OH
=]
OH
C: ©
NH; _ (Correct Alternative)
e
NH,
D: C5H5N
CsHsN

Which of the following statement is El‘l_lé-? L
G LDE600TL G M MG 6rfley 618 Fifluimeorg) ?

A : Naphthalene is more aromatic than anthracene
BTLIS6560T, Q1 H& TEeT L 9516 S|CTFmTELOL 198 HeiTemLn G185 MTeuoTL_g)

B : Anthracene is more aromatic than naphthalene — (Correct Alternative)
L& TF 60T, BTLIGHeIener L 25 & ACTMTGLOL 198 FHeiTemln Q& Te0oTL_S

C : Naphthalene is aromatic and anthracene is anti aromatic
BTLIS6e560T SCTMGLOL 198 H60TenLD Q& TeooTL &l LDMHMILD 4HETF 60T 60T CTTELOL 9.8
&60T6e0LNE G\ & T600T LS

D : Naphthalene is aromatic and anthracene is non aromatic
BTLIS6060T SCTMGLOL.19.8 H60TenLlD G\&MevorL &l LDMHMILD 48T F60T [HTeoT—3GrmGLOL 1.8
&60Tem L0 Gl &5T600TL Sl

Which among the following is meta directing group ?

LD 5 600T LU MMIGT 6T QO LT eUSIBLSSID QS TGS ?
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A : OH
OH
B : NH,
NH,
C : NO, — (Correct Alternative)
NO,
D:F
F

In elimination - addition mechanism, the intermediate formed is :
B allemer — ga () allémeot alleneoreuPl(nemmuiler @ emLBlemevdF GFFLOLD :

A : Benzyl radical
GQLICITEN &6V &H6vfl 2 mILIL|
B : Benzyl cation
QUETen &6 GHILA6OT julenf]
C : Benzyne — (Correct Alternative)
G L1 60T60) & 60T
D : Benzyl anion

QLIGITEN &6V 6TH [T LA 60T 2 ULI6oT]
Carbonyl compounds react with to form alcohols.
HITFTLIN6T6V G&FTIDMIGHET —— 2 | 60T efleneor|FluyDCLITE 2608 MITeVLS: 6T
&) 6055\ 60T M 60T

A : LiAlH,
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LiAlHy
B: NaBHy4
NaBHy
C : Both LiAlH4 and NaBHy4 — (Correct Alternative)
LiAlH, LOMMILD NaBHy
D: H,O
H,O

Benzene is formed by the overlap of which hybridised orbitals ?

6THS @) 60TEEH6VLIL] 2 TLILLIMeL&6T GLMOUMTIHSSHSEH 6V CLIGTeNTF 60T 2_([HeUTHMS! ?

A:sp
Sp
B : sp2 — (Correct Alternative)

sz
C: Sp3

Sp3

D: dsp2

dsp?

In the third order reaction, the number of molecules involved in rate determing step is :
eneoTmmoULg ellemeoTuiley ellemeorulledT Geud Gend Bl jevorullé @b Lilguilev FEHLGILD
ELN 6V &5 Fon. 1)1 G5 61T 60T 6T600T 6001185605
A : One
RE0T !
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B : Four
BT6T &
C: Zero
LLE3UILD
D : Three — (Correct Alternative)
e 60T
In the Hammett equation, ¢ represents :
GamLOL. FLOETUITLIQ6V o 6T6dT IS G LIS ¢

A : Substitution constant
Q& M&H uledr Lisvor Ly Lomaled]
B : Order of the reaction — (Correct Alternative)
edlemeorudledr LILg.
C : Reaction constant
ellemeorullesr omniled)
D : Kinetic energy
Q&S MMV
As per the Hammett equation, the electron donating group is :
GamLOL. FLOETUITL.1Q60TLIL, 6TOVE L TTeTEHem6T Q&HT(H&HHHI I QFHTESGS)

A Br
Br
B: CN
CN
C: CF;
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CF,

D : OH — (Correct Alternative)
OH

When k;,, >> [S], the Michaelis - Menten equation is :
kp, >> [S] &5 @) (HSHGSLLCUMS L& E& 606N — QILD60TL 60T FL060TLIT(H) 6T60T LIS,

At r=Kk[S] - (Correct Alternative)

r=k[S]
B:r=V,ax[S]
= Vinax[S]
1= k5]
r=kn[S]

D: r: Eﬂl

N

Km

=

[S
The frequency factor in the collision theory is :
BLOMSH6V Q& mMeTen & U 6dTLIL. )76 6U6D0T SIT[T600! | WLITETS

A : independent of temperature

QeILILIBlemevem QLIMTIHSH S 6MLOWITSI
B : directly proportional to temperature

@eaULIL BlemeuwlmenTsl GBI HE &8 FH 6V @) (H5SGLD
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C : inversely proportional to temperature
QeuliUmlemevwmenTgl eTH [T HR 55 H 6L @) ([H5 LD
D : square root of temperature — (Correct Alternative)

@eULILIBlen6vUI6dT QITE&HENILID QL GLD

With an increased in temperature of the reactants from 295°C to 305°C the molecular velocities increase by about 2%
and hence the collision between molecules would be increases by :

allem et LB QL MR 6rfl6dT QleuLILILDMeoTSl 295°C edl(HHSI 305°C QL& 2 WISHSILCUTSI

N6V S T MG 61T 60T FHeMFCEUS LD 2% S8 2 TR MG, 6TTECE LNV S Fa M) & EH 5 G ©) 6L CUl
GLOMG6V56T 2 WFHTMmS :

A : 2% — (Correct Alternative)
2%
B: 1%
1%
C:3%
3%
D: 4%
4%
The most Vibrational transition occur in case of alcohols (-OH) group in IR spectroscopy.
IR BImmeneuuiley 3L6085ammev&6rfler (-OH) Q& MTE& S &5 Mar AFHLULF AT F6
LTHMESH MH&TeT LS LI :

A 14000 - 400 cm! — (Correct Alternative)
4000 - 400 cm™!

B: 900 - 400 cn’!
900 - 400 cm!
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C: 5000 - 4000 cm’!
5000 - 4000 cm!

D : 400 - 100 cm’!
400 - 100 cm’!

Which of the following shift leads to the decreased intensity of absorption ?
LYl 6dT61 ([H 61 60T6U M MU 6T 6T LTSS & 60 meUTer 2 MehdFHemevd Q&TH SR M ?

A : Hypochromic shift — (Correct Alternative)
enamLICUT GBrmLi& H&HF6Y
B : Hyperchromic shift
eamILl GCrmils maey
C : Bathochromic shift
GuUECSIT GEIMIS a6
D : Hypsochromic shift
amLICEHFT &G T & H& ey
Which of the nuclei listed below shows more peak splitting in ESR ?
S LILIqweS UL (B6Ter &([H& 6160 673 ESR —60 |5 & Llemaysemend TS ms! ?

A 57Fe
S?Fe
B:lg
'H
C: 55Mn — (Correct Alternative)

55Mn
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D: 14N
14y

What is the correct order of A, for n - o* transition ?

678l FIflWMenT n - o* eI D& TeT A, —60T auiflems EyLoLd ?

A : ROH >RNH; > RSH
ROH >RNH, > RSH
B : ROH <R - NH, < R-SH — (Correct Alternative)
ROH <R -NH; <R-SH
C: ROH > RSH > RNH,
ROH > RSH > RNH,
D : ROH <R-SH <R-NH,
ROH <R-SH <R-NH,

Selection rule for the rotational Vibrational_Raman spec_t:ra for:a diatomic gaseous molecule is :
QUMW @\ TL6ML ELNEVE Fo WIS EHESHITET SHPMTF DM MILD F) 76 55 EH & 55 T60T [T ITLO 60T
BImmenevwiler CHIHOSH &G0 NS :

A:AV=x1land AJ=0,+1
AV==110MMILD AT=0,+ 1
B: AV=+1and Al =0, +2 — (Correct Alternative)
AV=+110M0ID AT =0,+2
C:AV=x2andAJ=0,%+1
AV ==2 10MmMID AT =0, 1
D:AV=+2and AJ=0,+3
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AV =+ 2 I0MHMID AT =0, + 3

Which element donot showed Auger spectra in electron spectroscopy ?
6TeL& L IedT BIMLDmemneuiley &I BIMLDMTEm6EV6mL 6TIHS S60T LD HIHLD ?

D : Hy — (Correct Alternative)

H,

Schottky defect in a crystal is observed when :

R0 L9&HST60 a5 GenmuITh LNeralmin, Blensvifley 2 _soorg LGS mS.

A : unequal number of anions and cations are missing from the lattice
FLOLDMM 6T6v0T60011&H6m&HUI6L GBI LDMMILD 6TH [T 3Wi6nf]&H6T 3j6vuilsCH memeuulev @)L LD
QUOTH GBS H6V

B : equal number of cations and anions are missing from the lattice — (Correct Alternative)
G LOLOITEOT 6T600T600T186m 8 Wil6L GBI LDMMILD 6TH T 3| Wi60f1FH6T 2600115 C&H Memeuuilev @)L LD
QUDTH BSSH6V

C : an ion leaves its normal site and occupies an interstitial site
62(H W60l 26T QUGS IDTET @)L HH 6L @)L LD QLML ) 6uofl&: G menel
@G euefluiley @)L LD GlLImIGH6e

D : no ion is missing from its lattice
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L9 & 2600118 G memauuilev 6TIHS 62(H 3 Wenflu]lD @)L LD QUMTS Blehev E)6VevTH(HS S 6V

Spinels have the formula [AB,04] where A can be group.
6V LITeLF 60T eumILIT(H [AB,04] @H6v A QFTGH I,&LD

A

D:

: IT A — (Correct Alternative)

ITA

:IITA

1T A

:TA

1A
IB
IB

Which of the following posse_sé ph&’sic_a_l prdpgrty values that are différent in different directions ?
G LD 55 600T L6 M MIET 6Tem6d Gleu6lGaum Hem&sarflel GlausGeum @ wmLluley LievorL
LGS 60Y6ITd )85 T600T LY. (1H &5 (S5 Le?

A

Liquids
S\ JeumIS 6T

: Gases

6UITU] & & 6T

: Crystalline solids — (Correct Alternative)

LI 85 ) 600T LOMI G 6T

: Amorphous solids

LIQ S6U1q eULDM M ) 600TLOMI S 6T

An ionic solid is a poor conductor of electricity because :




68

69

68

69

GFevoTL0 3 Wieflwmeors e W eaTEFTy A IFH D HLGS), G euTenflev :

A : The charge on ions is unequally distributed
I|wenllseTdg 6T &emd Ermm LS THS [HS 560
B : The charge on ions is small
S| wenfluller @emmeumeor LAl6T SremLn
C : Ions arenot free to move in a solid — (Correct Alternative)
Fev0T L0 & F6L W6t & 6T 6TerflEHME @)L LI LW TaUTESITLO0 @) [HES60
D : Ions donot conduct electricity
|Wwenf] L OTFMTSH MG &5 SlaUHeLemey
Essential action for Lasers is : (| T

Cev&T &HTIFR MM (LDSFRW BISLD6 :

A : Absorption
2 _(HEhG 6V
B : Radiationless transformation
SFTIFFMHM @ L OMHMLD
C : Stimulated emission — (Correct Alternative)
Srevor() 2 L61Lhey
D : Spontaneous emission
GeoteollGFema 2 _1AlLDa|
According to sequence rule, arrange the following in increasing order of priority - CH3, - CH,CHj3, - NH,, - OH.

alflens&m i aflSufler 9 iLemL_ullev Lletal(meotaumenm gmins auflenauilev
auiflen&FIL{H &8l - CHs, - CH,CH;, - NH,, - OH.
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A': - CH3 <- CHCHj3 <- NH,; < - OH — (Correct Alternative)
- CH3 <- CH,CHj3 <-NH; <- OH
B: - OH <-NH; <- CH3 <- CH,CHj
- OH <-NH; <- CH3 <- CH,CHj
C: -NH; <-OH <-CH,CHj3 <- CHj
-NH, <- OH <- CH,CHj3 <- CHjy
D : - CH,CH3<-CH3 <-NH, <- OH
- CH,CH3<-CH3 < - NH, <- OH

The correct order of priority of groups/atoms attached to the asymmetric carbon atom for assigning R/S configuration is

R/S &MIUT® eupmIG LD QUML) FFemnwimm &mijLieoflev @) eneuorhHEl6Tem QHTGSG S /
9| 6001 & 55 &8 meor & flwlmeor peotelflemin eurflens

A:Cl>Br>CH;>H
Cl>Br>CH;>H
B : Br>Cl > CHj3 > H — (Correct Alternative)
Br>Cl>CH;>H
C: H>CH;>Br>Cl
H > CH; > Br>Cl
D:CH;>Br>Cl>H
CH;>Br>Cl>H
The isomerism that arises due to restricted rotation about-carbon - carbon double bond is called :

SHITFTLIET — STTLT @TLemLLI Llenemrlienl &FFTHE @&meoor(h &rLo6v @) UIVTHELTWDS
2 _(HeUM@GLD ImmHluILD
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: Geometrical isomerism — (Correct Alternative)

aulgel Lomm LD

: Optical isomerism

epeflar oo nmmmlwil

: Tautomerism

@\WIMIG FLoBlemev

- Conformational isomerism

aULgeUEUE 3jemLDLIL] oMM MIWILD

The instrument used to measure optical activity.

g6l ZLoMMIG SHeTemln @jamaill. LileTUR LD Smedl e1g 2

A

: Polarimeter — (Correct Alternative)

Gumeurfl LOLLF

: Refractometer

QU&LTFsSGLT O LT

: Spectrograph

QUSLCrm&EIFmL

: Tracer technique

L @renvy QL &60(18

The most stable conformation of decalin is :
QL& 56960T LS LD Hl6t6V T 2_(He emLiL

A

cis

e




B : trans — (Correct Alternative)
L9 [T IT60T6IV
C : eclipsed

D : staggered

TET

Number of double bonds present in squalene :
6N & WImedlenflev 2_6iTem G\ L emL LIl6mrevorLIL| &6rf160T 6T600T600118560)85

A : Four
IBIT60T&

B : Five
O

C : Six — (Correct Alternative)
S0l

D : Seven

g

Direct use of acraldehyde is not suitable for the synthesis of quinoline under Skraup synthesis condition. The reason is,
acraldehyde undergoes :

GWlCeoTmevement eV HTMTL QHTGLIL] pemmuiley wimfle @b GUIME aflemeor
51 LI & 60)60T&H 61 60TLILG. 2| ST TV emamenl GBITIQUITS LIWLETLURSS @ UIeVTS. FGeretfle,
35 TmevIgenam® @e6uelmmTHmS! :

A : Decomposition

Fleng e
B : Cyclization
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6U6EM EITLLILDITS 6V

C : Polimerization — (Correct Alternative)
LI6VLILQ W& 6V
D : Formation of methanol
QDG SH60TITEV 2_(HEUTHEV
Furan reduced to Tetrahydrofuran in the presence of :
6T& 60T (LPetTeotlemeuliley LW gmedt se(h&&HemLHE QL LI 6L Grm LIw,ymermT&Hms ?

A : Pt/Hp
Pt/H,

B: Cd/Hg
Cd/Hg

C : Pd-PdO — (Correct Alternative)
Pd-PdO

D : Carbon black

S (HLIL| SITTLI6T

The fundamental unit in terpenoids is .
QLT eormui(m & erflev 2_6Tem g LILIen L 36V&

A : 1,3-butadiene
1,3-191w, L Lmem L_uFedr

B : 2-Methyl-1,3-butadiene — (Correct Alternative)
2-QUOGH6V-1,3-LIw, L LmemL_uTeor

C: Allene
2/6v6J60T
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D : 1,2-butadiene
1,2-L9w, L L_meoy L_u Feor

The method used to open the heterocyclic ring in pyridine is :
LN ligeoflev LIGL euemeTWL FHIGES HMé e LiweTLHID (LHemm :

A : Hoffmann Exhaustive Methylation — (Correct Alternative)
QMITLIGLOET 6T&6VaMITeNIg 6 QD& H 6V gMMmLD
B : Emde's Degradation
eTLOL_6v Flem & eUemL G560
C : Von Brown's Method
6UIT60T LG T60T (L6t
D : Williamson's Method
elleveSlwLh FetT (MM

Splitting of spectral lines in an éxtéfna_l_nﬁagnetic field.ds'called :
L eTLeuEH 6L BIMnmemeud Camhser Llflaieni i eflemerey

A : Stark effect
VLTS allemere)]
B : Compton effect
SO 60T elemeray
C : Zeeman effect — (Correct Alternative)

& Lneor elemerTey
D : Shielding effect

LD6mM& 56V elemeTey

The molecule which is Raman active and IR - inactive in the following is :
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G LD 6V ([H 6L 6ITEU D MIGT 6T[HSS CLNGVE Fa. M [FITLOGIT [BIM DM eVem S QHMTHHGSLWD, IR
BIDLOTeneVEnW S QEBTH HHMSI :

A: SO,
SO,

B : HCI
HCI

C : Ny — (Correct Alternative)
Ny

D : Protein

Protein

Which is Hamiltonian operaforin
- h2 d2
— = LN 1 =FEu ?
o 2 + V(x] |ur(x) =Euw(x)
BLp&&6T_eummied 618 eupmblsb@romsufiuieir Qe
-

{E@ + V(X}}U(X) = EU(X}

Ay (x)
v (X)
B:E
E
C:Evy(x)
Evy(x)
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[—h? &

2m dx2

[—n? &

2m dx?2

Two functions fj, 5 of the same set of coordinates

fl, £, 0&5F QFwWelsHerflev

+V(x)
- —(Correct Alternative)

+V(x)

is said to be orthogonal.

AT CHTCEHMTETEL 6TeOTLILIMS M S :

Al [ dT=0

[f hdT=0
B: [fipbdT=1
[ dT=1

C: [fHdT=1

[ hdT=1

D: [fhdT=1

— (Correct Alternative)

Jf]. f2 dT=]

is

reducible representation.

—60T S ([(H&H 5 QUM

A : I'—(Correct Alternative)

r
B: o,
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Ch

Thin layer chromatography is based on :
et BIMLUILNflenss 6186 3419 LiLienL_uileh Cauemev QFEWR M

A : Volatility
-YR [V =10
B : Solubility
&H6MTH6V
C : Adsorption, Partition — (Correct Alternative)
Holiugliys seurdd, L9 ifleflemeor
D : Ion-Exchange
jweofll1 ufliommmin
In DTA, Endothermic processes are more likely to occur than exothermic process because :

DTA —66L, 2_aTau Mm@ GlauLiLl euenie] Q&FW6Wenm, Qaulil 2 L6ID QF W WenmenuledlL
SF &IOS [ LG LIMID, B{S60T &ITF6orLD :

A : Heat is extracted from the sample — (Correct Alternative)

QeulIULD US&BIFMI6L @ HHS 2 MEehFLILOSmS
B : Heat is supplied to the samples

QeulILILD UGHSHF DS QFNSSLILGR DS

C : Pressure is increased
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W5 2B &HS5LLGS DS
D : Pressure is decreased

S|WHFD GMDESLLOGHMS!
In neutron diffraction, neutrons are scattered by :

BIW L gmesr edlerflldL] euememadlev, BIU|L I TedT& 6T GLDE5600T L6 M mIET 6T560TTeL FNGMIFMS! ?

A : Positrons
Gmiflwedr
B : Orbital electrons
FOHOILILITENS 6T6VEL_ITIT60T
C : Atomic Nuclei — (Correct Alternative)

S| T &5 ([H

D : None of the given options

@ emeu gaiLilevemn ey

For a bivarient system, the two ariables,to be specified are :

@@ @ULenLLomml emolILN6, 6T @ Tevor(h LMMII&HEMET BITLD HevTdhH 60 6T(H &S5
Q& meTeT Geuevor(hLd ?

A : Temperature and pressure — (Correct Alternative)
QEULILI 36TELD MHMILD WSS
B : Temperature and volume
Q6ULILI {6T6Y LDMHMILD LI(HLO 60T
C : Pressure and volume
S|WHSLD HMILD LIGLO6OT

D : Pressure and volatility
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(WSS WHoILD eTerflFH 6L < eaflwimgev
Low temperature CD measurements are useful in :

SOMMHS GeULILl CD 6TGH G 6V 6THME& 2 LIGWMEHLILMGH M ?

A : Configuration
LD {6mLOLIL

B : Configuration and solvation
LM QenLIL| LDMMILD &Hen i LILmEGermmLD
C : Conformation and solvation — (Correct Alternative)
@euerflauig el 9emnLiL] IMHMID &HemFLILITCeTMHMLD
D : Super acid
T lw ojuflevld
The electronically excited state is lsrod_u_céd i)l:otochemically knows.; |

eperfl GauBH uilwev eflemeoruilev Lol aorearsnil (LNem M UIleL Slemiey Hm mlemeuwileh 2 Heum@GLD
el e UITIHET :

A : Fluorescence
2 L Qermerfligsey
B : Phosphorescence
BleoTe! eerfl e
C : Luminescence — (Correct Alternative)
& 60T\ 6oT el 856V
D : Chemiluminescence
Gaud eerfljse

Which one of the following molecules does not obey the 18 - electron rule ?
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18 — eTeuS LT 6T &6t BLDS600TL 6THS CLNEVE Fn M LleTLIMmell6vemey ?

At [Mn(CO)g]"*
[Mn(Co)e]”
B : Fe(CO)s
Fe(Co)s
C: [Cr(CO)s)*
[Cr(Co)s]*
D: [Mn(CO)4C12]2' — (Correct Alternative)
[Mn(Co),Cly]*

The reaction of acetyl chloride and AIC_13 with ferrocene gives :
SQUICTTE &L 60T SFIL 6L 60 GCermeng® oy A€ allemeotfluyb QUTWS!
& 60L& GLD ellemeT QILIMIBET :

. @—COCHS
©

COCH;4

Fe
@\COCH3

— (Correct Alternative)




@ COCHj, COCH3
C j @\COCH3

_COCHs

F
\\COCH3

~COCH; (] |‘.

S cocH, 'Iw |9@ 6)5]

ealtlarm wremaiafiar e Blismg

Fe —COCH,
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O

Fe —COCH;
O

D : FeCl; and Al(COCHj3);

FeClz LOMMILD AI(COCH3)3

Rh,(CO)4Cl, complex has :
Rhy(C0),4Cl, Sj6metore] G&ITLOLOMTEOTS) :

A : Two CO bridging ligands
@ evor(h CO LITEV FFef1&6T Gy mI6TemS
B : Four CO bridging ligands
BT6OT@ CO LIM6V FF60fl & 6T Gl LIM MIGTeTS)
C : Two Cl bridging ligands — (Correct Alternative)
@ revor(h) Cl LIM6V FFedf1 &6 QLM MIETemSI
D : Three CO bridging ligands
eLN6OTMI CO LIMT6V FFedfl & 6T GlLIM mIeTens
The coupling constant reaches its maximum for a dihedral angle of :
@emevorLIL] LMMledl 2 FodHemns em LD enLanjL_Jev G8mesuTLD :

A :9gqo
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90°
B: 60°
60°
C: 180° — (Correct Alternative)
180°
D: o
00
Predict the number of lines in the ESR spectrum of [CF,D]° radical.

[CF,D]° &évfl 2 mil1L965T E.S.R. BlMLomenevuilev &mevorILI(bILD G&sm(H & 6rfl 6T 6T6v0T6001 860 85 607
6001 LM &

A : 6 lines
6 C&HM(H &6
B : 9 lines — (Correct Alternative)
9 Gam(h & 6T
C: 5 lines
5 G&HMH&H6T
D : 12 lines
12 @sm(h &6IT

The value of quadrupole moment of KCl is
KCl eLp6v & o M 68T (&6UITL_(HELITeL @@l_lug,@marﬂem OGS\ LIL] eT6dT6OT ?

A : 0.04 mol — (Correct Alternative)
0.04 mol
B : 0.4 mol
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0.4 mol
C: 0.004 mol

0.004 mol
D : 4 mol

4 mol

The hyperfine structure in the ESR spectrum of the methyl radical is .
QEH L 2 miLINer ESR BIMLmensuuiley 60am LITenLIGT emLnLiL] 6releUmml @) (Ha @D ?

A : Singlet
FimigerL
B : Quartet — (Correct Alternative)
GeUmyLL
C : Doublet
LL]emL
D : Triplet
Cifleri
The chemical shift of —CH—Br isin the range of :

—CH-Br . .
- -1 Geudl mageilein @QenL GiL,

A :2.7-4.1 ppm — (Correct Alternative)
2.7-4.1 ppm

B:2.0-4.0 ppm
2.0-4.0 ppm

C:3.1-4.1 ppm
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3.1-4.1 ppm
D:42-48ppm
42 -48 ppm

The Curtius rearrangement involves :
SIQWen @ LIomhmiellener @end 2 6TerL SRS :

A : Diazonium halide to Aryl halide

60 LLLIG6n meof WD 61D 6016V60)IL {60) [J6V GUNEM6VL_ITS LOTH mI6U S
B : Pyrolysis of acylazide to isocyanate — (Correct Alternative)

3|EMEN6L JemenemL QaulILLILMSS) BCFTFWLICTL. 48 LOMHMIeU S
C : Aldehyde to Ketone

3LV manemn L GL_GL 60T &4,8 LOTmHmIe S
D : Aldehyde to Alcohol

S,6V19.60)UD 6L 4,605 6UDIT6VITE LO MM MIeU S
Wittig reagent is : - o,
198 STrevol| eTeoT LIS :

A : Sodamide

GamLmenLn(h
B : NaBH,

NaBH,

C : Phosphorous ylide — (Correct Alternative)
umervLIreny ullemeu(®

D : CH;3;Mgl
CH;Mgl




1001100 The sigmatropic rearrangement of allyl aryl ethers to o - or p - allyl phenols is known as :

2|6LEMEVEY BIENIT6V FFSHISHET, FISGITL G @L ommm ellement eLpeuld &L F&HGSHIT DM MILD
LIMITIT 26060606V &LTeuTmevssermss mmmLUiuU@GLD elemenr :

A : Cope rearrangement

@&ITLI @ L Lommm 6lexeor
B : Benzilic Acid rearrangement

QUeTR N5 9 Lblev @LLOMMHMm 69 6m 60T
C : Pinacol rearrangement

eorssmev @ L ormm ellemeor

D : Claisen rearrangement — (Correct Alternative)

P em6TF T @ L LOmHM ellemeor

101 101 In SI system, the unit of cell constant is :

SI GMIUTL 1960 Sevnmpiledenil GMI& G LD VG :

A:ml_ (Correct Alternative)

1021102 The salt used to form salt bridge is :

2 LI UMTeVLD Qemnd & L6t LI(BID 2 LIL :
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: KCl —(Correct Alternative)

KCl

: CuCO4

CuCO;

. PbClz

PbCl,

: ZnSOy

ZnSO,

Specific conductance is :

BIWLWD L& HmeoT eTedl LIS :

A

The molar conductance of a strong electrolyte at infinite dilution tends to be a finite value, which is

Cell constant x Measured conductance—(CorrectsAdternative)

leors6V LOMMledl x gjemedl L LILHID &1L &8I Hmeor

: Resistance x Cell Potential

ISleoTS emL x Ll60TE 6V LOlGT S| (D& LD

: Conductance x Resistance

LSS T M6 x LTS 60

: Equivalent to specific Resistance

BlwL eTs6emL8@ &Ll

higher concentration.
eTevemeVWIMM BT&H S HenTFensy 2 el @ eIflw s Wler LGeflullest Gomeury Llesr
HLSSID Fmerrmerrsl GMILUIILL HLILNemer 2 L WSHTH @) [HSGLD b LG LILITETS!

that at
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106

105

106

eTUG el YUBSLLF L T&55) Q&ML 8560 JFTEH @) BHHSCLMSE 2 6TeT LT IemL el
@& GLD.

A : Above — (Correct Alternative)

2H &L
B : Below
G660 Moy
C: Zero
&rif
D : Equal
Lo

The electrified interface model successful for the Na* and F~ ions which do not adsorbed at the electrode is :
L 60TH&H (B &6 L& SHeUFLILILTS Na' Lommid F- owesfl&emer Lim) edlemd @eudev G eumnl
QUMM WL L IDQLIMHM @)6mL. juLi6or] LI mend Wi il :

A : Helmoltz model
@ameulnmL_en mH il

B : Gouy - Chappmann
ST — FMTLIGLO6T oM If]

C : Stern model — (Correct Alternative)
6L [jeor DM il

D : Helmoltz - Perin model
QameuLmLen — QuifleTnmS il

The minimum number of a functionality of a monomer of a polymer is :

&(H LievLIlg CFTLOE&H6L &mevorLILI(HILD 6([H LIQUIN6IT, GemnmIbSLIL&F eLn6V & Ja M 60T




6T600T6001 | G560V 5 2

A : 1 —(Correct Alternative)
1

B A W WO N

1071107 'Which of the following is a thermosetting plastic ?

LYl o760 (I 61 60T6U M M 6T 678 GQIEULILISS 6L @) MIGLD LN6mmerulg s QLITIHeT Q&L ?

A : Nylon -6, 6
6MH6VITEOT — 6, 6

B : Bakelite — (Correct Alternative)
GUEZHEm6VL

C : Polypropylene
umedl Ly rLiLeSesr

D: PVC

LImeSlemeuementeL & Germmen () (PVC)

108 108 The polymer that obtained thro' Beckmann rearrangement is :

LY edTeu(pld 6Th& LILLIIQF GO QLITSE 6T @ LLnmmm ellemeot Ul 6T eppeuld HemL &HR & ?

A : Nylon 66
6MIHEVITEOT — 66
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110

109

110

B : Nylon 6 — (Correct Alternative)
6MIH6VITEIT 6
C : Polyester
LmedSleruLi
D : Phenolic resins
Lfeormedl& Q& edrSs6iT
The polymers which have excellent thermal stability and water repellency are :

35 & QeullL Blemev Seoremow]ld BT eTHFLIL| &6edTemDWLD Q& mMevorL LIMedILDT eT&! 2

A : Bakelites
GLIS60I6VL_&6IT
B : Silicones — (Correct Alternative)
§1601 8 G5 meiTa 61T
C : Epoxy resins
FF L& endl @ 7 & 60T 55 6iT
D : Nylon
60)[H 6V ITEOT
Average molecular weight of polymer calculated by :
LevLIly CoIInG S 6T FImaif] eLpevsdn M 6TemL LiledTeuHLOMM SeoordS L LILGSMS!

A N = Sample weight
No. of moles in sample

— (Correct Alternative)
GFILDSHH6T cTeML

Gay&dleir GLomeL&HaT6 6TeouI6utTH60SH
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111

112

No. of moles of sample
M= :
Sample weight

Gamuddler GLomeLSeN6T cTetueuiHend

GaiLé Sl eTemL
C : M = No. of moles of sample x Sample weight
M = GFFL0SH 6T GLOMeL & 6rfl6iT 6TevoT6t0l1&H6M& X GF LD S 60T 6Teh L
D : M = Sample weight x Equivalent weight
M = GFJLOGSH 6T eTem L X CF DG F)60T &FLOM6UT 6T60)L
The interpretation of stimulai proceeding from environment and acting upon the individual is called as :

R S60BUT &I &MHMIFSL060 FHLIG S EILD SM6toT(h 6V G1&F W6V(LNENMD CLNEULD
eflenssLlUb U :

A : Perception — (Correct Alternative)
L| 60816007 761
B : Attention
&6U6DTLD
C : Deviation
ellev a6y
D : Responses
S16VMI &6V
Which of the following emphasized that "Every type of Education open to men should also be open to women" ?

B LD 600T UM M6V 6THS & (LD "6R6UGEUIT(H 6U6M & UITEOT &6Vl WD 3, 60075 658 S
S m&HLILG S CUTETEM GLIETSHEHE G0 HMmEaELILL Galetor(hLD" eTer a6l misHuis ?

A : Kothari Education Commission
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114

113

114

Canssmifle Huallds G

: University Grant Commission

LIV & E6MEVE &G LMeofls & (W

: Secondary Education Commission — (Correct Alternative)

@ emLBlemev Se0a5 @&

: Primary Education Commission

S TOLS Hevalld G

Association theory of learning emphasize the importance connection between
@ eM60THG HMMEL Q& TETE0 & 6T60T LIS LM mILD
QSTLILUBSSaIH 6 N&HHUWGSS 6D QLIRS

A

The laws of learning which govern learning by Trial and Error was suggested by :

Skill and Response
S M6 LDMHMILD S16VMHIGH6D

: Stimulus and Response — (Correct Alternative)

SITE00TL6L LDMMILD SI6VMHISH6V

: Attitude and Skill

LOGOT LILIT60T6mLO oM MILD &M 6ot

: Achievement and Response

606 LDMHMILD &I6VMHIF6EV

and .
21,5\ LI 6D) 61 85 60) 61T

SeUMI&H—&HMHMEL (PEMMENLL 2 6TaTL&H W HHmev S LI LM HhHEHS & Flellgsealr

A : Burner

B:

LIJ6oT 7
Hull




115

116

115

116

a6y
C : Thorndike — (Correct Alternative)

& T 600Te0) L&
D : Skinner

6V & 60T60T I
Which of the following should be as flexible as possible to meet the requirements of varying individual differences
among the students ?
LDIT6BOTEU [T 55615 &) 60) LG LLI 2_6IT6IT 556071 WLITET G6l M mIetLDGHem 6T 6TFH QS MeTEBLD QUITIHL-(H
LI 656 (1 61 60T6U M MU 6T 67851 Q\H LD 6 &S E0T6MLO UL 60T @) (588 GeustoT(HLD ?

A : Syllabus

UTLSSIL_L LD
B : Library

HIT6V& LD
C : Curriculum — (Correct Alternative)

SHOVSH L LD
D : School enviornment

LieiTerfl & @& Lp6L
In the following types of reasoning which one is useful to us for formulate generalized principles and conclusion on the
basis of certain facts and specific examples by :
62(H Fl6v 2_evoTenILNG6T LDMMILD TS & HHTL(H&6rleT 2119 L1LienL_ulley BITD QLTSNS
GHML_LIMBH&HE6T 2_(HeUTHGSMNGLD 6| HTe0TLSMGLD HLo&He00TL HT6HS mla|serley
678! HLOG G LIWLISDIETETHITS 2 _6T6emS! ?

A : Categorical
GBI (LS LOT60T
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: Deductive

2615 & &6V

: Conditional

SLOUUTL®

: Inductive — (Correct Alternative)

&iT6vor (h &6V

Who is the pioneer of humanistic psychology ?
o6of1& GHul 2_6meNluled6dT (LN6BT@EUTITLY. 6T60TE & (HGLILIMGILIGUT Wi ?

A

Bandura

Leoor(BIm

: Julian Rotter

e7® 60l Wier LI

: Michael Ashton

MLDECH6V 21,69 L 60T

: Maslow — (Correct Alternative)

LOmeru@euIT

Conceptual intelligence means :
&H(HSHS! 2_(HeUTES Hi6ooTevorl6Y 6T6dT LIS :

A

: Ability to deal with people

D& & EHL60T QSITLTL| Q& TeTEHLD S meor

: Ability to deal with ideas — (Correct Alternative)

CUITFMEITEH6IT / & (55 S18HEBL T QST Q& TETEBL M6

: Ability to deal with things
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QUITBLHEBL6T QSTLFL| Q& TeTEBHL & medr
D : Ability to deal with Animals

eV RIS T IS EBL6T QSTLTL| Q& MeTEnHLD & meor
Good Colleges were given autonomous status in order to promote

FMHS HTGEHE @G S6TeTTL & FH&TTLD QEEBISIUL L.

A : Number of Colleges

& f1&erfleor eTevoTet0l 1 & 6mSHem U PG LILMSS
B : Educational Opportunities

&Hevell eUITUILIL| 85 @5 8858
C : Innovations and experimentation — (Correct Alternative)

L SI6M D& 6T LDMHMILD SUI6&HEHE&HSH TS
D : Freedom of teachers

2Ffluisafler &556I5S\DSMS
The Objective of National Educational PoE:y is
GHF W Fevadl QS meiTenssuUlleT GMISHBSHITET :

A : To achieve national integration and greater cultural and economic development

CHHFIW HEMLOLIML 60 6L 6UGILD LisvorIm(H LMD QUITHETTSTISEHI60 GotdLIm(
SeML6USILD

B : Removal of disparities and to equalise educational opportunities — (Correct Alternative)
JMHMSSTLLE|HEMET &Hememalgl LnMmmild sevelluileh &Fio eumuiiliL] efliug
C : Promotion of Emotional and National Integration
DTG 6UWEFF LHMID CHF W HEMLDLILITL 6L 66T LIS

D : None of the given options
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122

123

@ emeu gSILdleL6m 6V

Pace - Setting Schools are meant for :
'GLI6NV — Q&FL_IQ MI' (Pace Setting) LIGT6I &6 @)6UT&HEHE G 2_(HEUTHSHLILL LG :

A : talented children — (Correct Alternative)

H ML UTULHS & LLHEDS 56T
B : slow learners

QO GI6UTE LIUISYILD LDITEooTEU [T & 6T
C : physical challenged children

Lo & meormerl&ser
D : visually challenged children

LUMTJeneuwmm &LOHED S S 6T

Operation Blackboard Progra_rnine_wa; _started_ in the yean,:
QF WML (H SIHLOLICVEN S 6T6oMM HIL_L LD QSMLMISULIL L 2600T(h) :

A : 1987 — (Correct Alternative)
1987
B: 1988
1988
C: 1990
1990
D: 1994
1994

The target age group of National Literacy Mission is :
GEHF W 6TW&HHM6 @UIS LD B)eVEHETH &ML UG & Wellery :
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A:15-25
15-25
B:15-30
15-30
C: 15-35—(Correct Alternative)
15-35
D:15-40
15-40
Non Formal Education Programme was created particularly for :
WenMFTIT HVST L LD (NHHWIDMTS 2 (HEUTHEHLILIL L G

A : Rural Children

SITOLILM &LOHN S5 EHESH T
B : Urban Children

B&HTLULMD GLOH60 S5 6H &S
C : Working Children — (Correct Alternative)

Lieoof I flud G LPHNSHHEHEHETH
D : Disabled Children
LTHUSH 6T GLLHNS & EH& TS
Financial assistance of Operation Blackboard was provided by :

SHILVNS S LEH MG BT 2 56 aupmiSug

A : Central Government — (Correct Alternative)

DSHW HT&

B : State Government
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LDITIBl6V T8
C: UNO
UNO
D : World Bank
2 V& GUMEIG
The concept now used in the context of intra-OECD competition for the best brains is :

FmHS AMGYFTT LM ETEHSHTeT OECD CGUMLLY S CSHTeyserflev HSMAUMDS!
LweTU®ESSLILGLD &HES S UL 3 GLD.

A : Competency Development
S\MeT eUeTTFS
B : Mental Development
LD6OT QUETI&SF
C : Brain Drain — (Correct Alternative)
eLN6m 6T QFeVal(H &6V
D : Intellectual Development
QM 6YF T eUeTIEFS
The apparatus used to determine the span of attention is :
SHeUeT efFeng SevorL il LIWweoT LI(HILD SFT&ErLD :

A : Periscope
@uflerv@saimLl
B : Telescope
GLeVeNVG&ITL
C : Epidioscope
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129

6TLSl6m LW mer G &L

D : Tachistoscope — (Correct Alternative)
LTEFICLMeruG&ITL

The basic activities of reading, writing and speaking of a person depends on

& (1h LD6of1560fl60T 2419 L1LIL & Q&FWeVLITHSETTET 6UTH S G560, eT(D&ISH6V LDMMILD CLIGS &6V
L&\ Wiemel QUITMISH S MR TS

A : Cognitive skills
R S560 B eiTaai

B : Life skills
eUmLpeNlLI6Y &) m6aTas6iT

C : Motor skills — (Correct Alternative)
2 Lewsas Hmeirsser

D : Individual differences

geoflwimeT GeumyUImB &6

According to which one of the followmg leammg theorles punlshmeﬁt for shaping the desirable behaviour should be
avoided ?

A BLLUSSES HLEHMSHMW CIDLIHSSI6USMNEHTE & 600TL_6060T 6ULNHIGalnS HellT&HS
Beuevor(HILD eTedTM! L6edTeU(HLD &MMeV &L LIMTh &erflev eThH & &Mmev G mLLIME
6u6ll W mI5 SIG 6T S ?
A : Theory of classical conditioning
5 BlemevWImISHE HmHmev GHILLIMH
B : Theory of operant conditioning — (Correct Alternative)
QFWLLTH 2868 BlanevwWlmsss &HMHme CsmLuUm@
C : Insight learning theory




2 Lsml& auldls ssmmev GEmLum@)
D : Field theory of learning
Lev& & Mmmev G&mLUm@)
130130 Intelligence is the ability

I51600T600T M 6] SN 6IT 6TEOTLIG .. ... :

A : to count problems
L J & & 60)60T 5 60) 61T 6T600TSID) 6L S

B : to solve problems — (Correct Alternative)
Np&FaFenenmaseneT STLILISI

C : to run fast

CousmsLnMS (heusl
D : to walk fast

GeausInms ML LILIS

Intelligence tests are based on,the werk of a French Psychologlst

levorevoT 16 CFH 66T 6THS LI TehdF 2 emelluleumeTd 65@'5@]856561’!‘]@ 319 L1LemLudlev
HeOLQUMB M ?

131 131

A : Alfred Binet — (Correct Alternative)
STl Neorl

B : Jung
ol 151

C : Erikson
6T f1 85 & 60T

D : Cattell




GFHL_L6V

132132 'When were Cattell's "Culture Fair Scales" published ?
6TIH S 24,600T(H G&HL_L6l6dT "&HeLF T GUIT 6rG&H6VeN" LSS SN Qeuerflull il gl ?

A 1890
1890
B: 1910
1910
C: 1920
1920
D : 1930 — (Correct Alternative)
1930

1331133 'What is the age of Early Adulthood ?
PET PET LI[H6 6UUIS! 6T60T60T ?

A:13-18
13-18
B:23-27
23-27
C: 19 -23 — (Correct Alternative)
19 -23
D:27-31
27-131

134 134 Who says "Social Change Involves Five types of Changes" ?

"FeN& LOMMMLD 5 6160)&HWIITEOT LOITMHMIEISH 66T 2_6TeTLSHEHIWGI" — 6T60TE Sa MWL :
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A : Kingslay Dawis
&mienGev CLGlL
B : Johnson — (Correct Alternative)
89 [T60T & 60T
C : Wills Griffin
elleveny &Il eor
D : Udai Pareek
2 Sl Ufs
Enrichment is one of the educational provisions for the children.

QEmley L H 56V, GLLHNSHEHEE N 6ifl6 G ([ 61U WLIMeT SHevelld
QFWLLITLTGSLD.

A : Retarded
QUETIEF @& 60Tl
B : Normal
Frn&il
C : Gifted — (Correct Alternative)
L& &) 6ot
D : Disabled
GenmumblenLwl
The first Indian Satellite built exclusively for serving the educational sector is .
Hevalld FHMMEHTHC 2 (HeumMeHELILL L @) HH wmeller (n&6e0 QFWMHensd s G TeT
2B LD.

A : INSAT
INSAT
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138

137

138

B : EDUSAT — (Correct Alternative)
EDUSAT

C: SITE
SITE

D : APPLE
APPLE

is a mixture of online and face to face learning.

@ emevor weuldl LoMHmID CHIFLNS HeVHSH &MHMedleT Fal (b QL GLD.

A : Ubiquitous learning
TLIGUIMSILD SMHMeV
B : Mobile learning
&CLUA audl &HMHmey
C : Electronic learning
LA 6OTERTL_85 &M M6V
D : Blended learning — (Correct Alternative)
&H6VHG! HMHM6Y

communication is very effective in influencing attitudes and behaviour of an individual.

56011 L0601 556011 60T LDGOT LILITEOTEmLD LD M MILD HL-& M HFHMET Q& WeumMMeVLil&H&H S TeUS MG

Slenevor L ifleu gl QML :

A : Non-verbal communication
GWETIT QST
B : Intrapersonal communication

560785 (& 6ITG6IT 2_6IT6T QSTLITL




C : Interpersonal communication — (Correct Alternative)
R(HEUIHHGS LD LOMMEUTEGSLD @60 G Q&ML L]
D : Mass communication
o6T_& QSMLITL

139 139 One of the following is the innovative instructional software for classroom teaching :

G LD & 600TL_6U M MIET 678 6U@GLILIemM &ML G FH 88860 L|SI6mL0WITET M6 FTF
QLDETQUIT(HET ?

A : e-book
e-book
B: CAI
CAI
C : PowerPoint Presentation — (Correct Alternative)
PowerPoint Presentation
D : e-journals
e-journals

140 140 'Education is to be concurrent list - suggested by :

FHevailem W LDSGH W UL 1916860 GFTLILSMN G 2bCeVMTF 6060 aULDMBITG WIS :

A : Kothari Commission
B&MS &M &Lil6 6o

B : Swaran Sing Commission — (Correct Alternative)
ehveUTeT & Ml &Lol6 60T

C : Mandal Commission
LD6DOT L6V &Ll 61q 60T

D : Ramamoorthi Committee




IIoepiss sl
During sangam age sea traders are known by the name .
FEIG &TeVSHTH 6V O\LIHMEISHL 6V 61600118607 6T6OTMI S|6MLNESLILIL LU :

141 141

A : Maasathuvan
LDITE M S 6 60T
B : Maanaigan — (Correct Alternative)
LOIT BT U &5 60T
C: Umanar
2_LD6DOT[)
D : Chattu
EFMS58l
During the first world war which American Presidentintroduced the:14 p_oints ?

W6V 2 6v&HLIGUIMHleT CLIMS LISIETTen @ & DF CHMLLTL L QeusMWLL QW&
GUWTEHS SH6VeUT WITH 2

142 142

A : Woodroe Wilson — (Correct Alternative)
2 G ellevFeir
B : Theodre Roosevelt
SIGWITLIT emenGleu6vL
C : Thomas Jefferson
SITLO6N Q& LIT& 60T
D : George Washington
SOTITER 6 ITE ML 60T

143 /143 The height of the Gangai Konda Cholapuram temple is




144

FHIMSSE Q& Meoor CFMLOLTE CHmalleder 2wyl

A : 65 meter
65 IS L[
B : 125 meter
125 5L LI}
C: 216 meter
216 IOL_LIT
D : 55 meter — (Correct Alternative)
55 8L
Statement-I : Bhara mahal Plateau is a p;rt of the Mysore Plateau situated in the North Western Part of Tamil Nadu.

Statement-II : This Plateau height ranges from 350 to 710 meters. Dharamapuri and Krishnagiri districts are located in
this region.

UMTESEWLD-I : SLALDBTL Q60T QUILGLOM G WG ueL216m D HH) (55 LD LITTFLOaMITEY

LI iSlwmeors enn@s i LI Ly ol ulledr sp(h 1LE SILIMELD.

6UM& & WILD-11 : @) 55607 2 WIFLD &L 350 WXL F'epge0 710 SLL T euem T Smevor ILGILD. @B S
LT Ly Slufleb Sl BHmMID SYeqeor S Dmeall L BI&H6T i emLnbSI6TenS.

A : Statement I and II are right — (Correct Alternative)
QUTEHGWLD - I LommuLd 1T s iflwmeoray
B : Statement I and II are wrong
QUMSHS WL - T LnMMILD 1T &6UMTETS
C : Statement [ is wrong, Statement II is right
QUMTSSEWILD - I HAUMTETE eUM&S WL 1T &FiflWmeTg
D : Statement [ is right, Statement II is wrong

QUMSHIWILD - I Fiflwlmers! eumsS WL 1T &6 mImeoTs)




145 145 ' The Book "De Magnete" (The Magnet) was published by
"&) GG ETEmL_L" 6TERILD HTenrev Glauerfludll ey

A : William Gilbert — (Correct Alternative)
eflevedlwib BevLurL
B : Orstead
@reVaLL
C : Biot Savart
LWITL &FmeuryL
D : Maxwell
(]TaL: 2 A STN)

146 146 ' The term "googly" involved in the garr_lé_:

6THS NlemeTWITL_Lg.6V "googly" 6T6oTM Q& MeL LWeTUBH &SSILOSBmS! ?

A : Hockey
aMITE: 5
B : Polo
GumGeurr
C : Cricket — (Correct Alternative)
CAlL: AL
D : Golf
@& MoVl

147147 All districts of Tamil Nadu except these districts were bifurcated at different points of time :

@b MeUL L mgGemers Sl SLOLDBTLLG6V LDMM DML L MHIS6T LieLG6um
HMev& L L MmiIgerfle LNfl&sennd s UL LeoT.
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149

148

149

A : Chennai, Nilgiris and Kanyakumari — (Correct Alternative)
Q&FeTemenT, B fl LnMHMILD &edrenfIWmEGLorf]
B : Chennai, Kancheepuram and Nilgiris
Q FOTEm 6T, SMEHF LD Lnmmid Hev &
C : Nilgiris, Dindigul and Coimbatore
Bev&f], B evor(H & 860 LOMHMILD C&HTWILDLISSTT
D : Chennai, Vellore and Kanyakumari
Q F6iTem 60T, GEUST LOMMILD 85607601 I WIME L]
For the mass production of human insulin synthetically, one of the following organisms is used.
L0601 & @) 60TE60emenT SFH G SjaTalley 2 MHUSH QFUISMHEG LNeTeubLd 6ThgS 2 ulif
LweTU®MSSLILGR S ?

A : E. coli — (Correct Alternative)
r G&ITem6V

B : Rhizobium
eICaFmLIwLD

C : Lactobacillus

VTS GLTELIFI6L6VEV
D : Streptococcus

VG LILIGLMTHTE S 6N

The half life period of insulin in the plasma is :
LNermerunmailev @) eorareSlenfleir oiem T QbW TeuLD :

A : 10 minutes

10 B MBI 6T




B : 8 minutes

8 IOl MBIgs 6T
C : 6 minutes — (Correct Alternative)
6 BILOIL_MmIg 6T
D : 4 minutes
4 pIOL_r1se6T
150 150
Which one of the following is wrongly matched :
District Hills
(a) Dindigul - Marunthuvazhmalai

(b) Perambalur Pachaimalai

(c) Erode - Chenni hills

(d) Namakkal - Kolli hills

LN edTeu (HeueoTeu MM 6L 6T S6UMITE. GLIMT(HIHHIL| 6TeTS.2
LD 6L L MRS 6T LD 60) 6V S 61T

(a) &\evor(h & 860 @m%unm LO6B) 6

(b) @UILDLIGTIT LI& 60 & LD61I6V

(c) FETm(H Q&FeiTent] LDEm6V

(d) BTLO& 6D Q&meLedl Lemey

A : (a)— (Correct Alternative)
(a)

B: (b)
(b)

C:(c)
(c)




D:(d)
(d)




